(a) SNOWFALL(mm/d),

10 yr mean, MAM
1

60°N

60°3

®

SWE(kg/m?), VD1, 10 yr
| | | | | |

1.2
80°N

0.8
o°

0.4
60°3

mean, MAM

60°N —|

e0%s T T T T T T T

(k) SWE(kg/m?), VD2, 10 yr
| | |

150

60°N
100

L o°
50

0 B8O

mean, MAM

150
100
50
s}

60°N

60°8

150
80°N

100
o

50
0 6o

(b) SNOWFALL(mm/d), 10 yr

mean, JJA

(c) SNOWFALL(mm/d), 10 yr mean, SON

0.16
0.08
a

60°N

(q) SWE(kg/m?), VD1,
|

10 yr mean, JJA
1 1

60°5

18
“;N
6

0

50°N

50°5

(1) SWE

(kg/m?
|

)

, VD2, 10 yr mean, JJA
| | |

(m) SWE

(kg/m?
|

)

, VD2,
1

10 yr mean, SON

18
jgm
6

0

B0°N

50°S

60°N

60°5

(h) SWE(kg/m?), VD1, 10 yr mean, SON
1

30

“;&

60°S

60°S

(i) SWE(kg/m?), VD1, 10 yr mean, DJF  (j) SWE(kg/m?), VD1,
| | | | | | | | | |

10 yr mean,

50°N —|

150
100
50
0

60°S

60°S

(n) SWE(kg/m?), VD2, 10 yr mean, DJF (o) SWE(kg/m?), VD2,
| | | | | | | | | |

10 yr mean,

50°N —|

150
100
50
0

60°S

1

60°S

(s) SWE(kg/m?2), VD3, 10 yr mean, DJF

(1) SWE(kg/m?),

VD3, 10 yr mean,
1

60°S

I

60°S

(d) SNOWFALL(mm/d), 10 yr mean, DJF (e) SNOWFALL(mm/d), 10 yr mean, An

100

Ani

100



